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TEST -3 EXAMINATION- December 2018

B.Tech CSE/IT/ECE VI Semester
COURSE CODE: 13B1WCI731

COURSE NAME: ARM BASED EMBEDDED SYSTEM DESIGN
COURSE CREDITS: 03

MAX. MARKS: 35

MAX. TIME 2Hr

" Note: All questions are compulsory. Each question carries equal marks. Carrymg of mobzle

phone durmg examinations will be treated as case of unfair means.

. (a) List all the ARM ISA Features. Write the assembly code for foilowmg binary contents

in memory locations
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Location for variable k

(b) What is the Layout of ARM Assembly Program? What are the assembler directives
requlred for Assembly Program?

2 (a) Explam the following Data Processing Instructions:
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(b) WAP to copy the data from TABLE 1 to TABLE 2 using Base plus offset
Addressing

T



3. (a) Write the assembly code for following conditional execution

0 =By than
fi, if{{as=b) && (c==u)) thene=é + iy,
(b) WAP to:

i.  Print "Hello JUIT!" on the on the console window
ii.  Covert 32-bit word as 8 hex digits as ASCII characters

4. WAP to compute Unsigned 32/32-Bit Divide by Newton-Raphson for foll,Qwiﬁg;}héfhory
10g

table for 32 by 32 bit Newion Raphson divisions
table[0] = 255 ' :

table[i] = (1 << 14)/(64+) for i=1,2,3,...,63

DCB 0xif, Oxfe, 0xf8, 0xf4, 0x£0, Oxed, Oxea, Oxe6
DCB 0xe3, 0xe0, Oxdd, Oxda, 0xd7, 0xd4, Oxd2, Oxcf
DCB 0Oxce, Oxea, 0x¢7, Oxes, 0xe3, 0xc(, Oxbe, Oxbe
DCB 0xba, 0xbg, 0xh6, 0xbd, Jxb2, 0xb0, Oxae, Oxac
DCB 0Oxaa, 0xa8, 0xa7, 0xa5, Oxa3, Oxa2, Oxal, Ox0f
DCB 0x9d, 0x9¢, 0x9a, (x99, 0x97, 0x96, (x94, 0x93
DCB 0x92, 0x90, 0x8f, 0x8e, 0x8d, 0x8¢, Ox8a, 0x89
DCB 0x88, 0x87, 0x86, 0x85, 0x84, 0x83, 0x82, 0x81

5. WAP to compute Base-Two Exponentiféfi’oﬁ"fdffollowing memory log

24 = 29 % explld — a)ln 2)

uexpl_table Lo

; tablelil=round(2A31 *exp2(a))"w'1'1é;‘¢;a~_“i(i+0.5)/32

DCD 0x8164d 14, 0x843a2864;.0x87116197, 0x8al4d575
DCD 0x8dladish, 0x9031dc43, 0x935a2b2f, 0x96942d37
DCD 0x99e04593, 0x9d3ed9a7, 0xa0b05110, Oxad3515ae
DCD 0Oxa7cd93b5, Oxab7a39b6, Oxaf3b78ad, 0xb311c413
DCD 0xb6£d91¢3, Oxbaff5ab2, Oxbf1 799b6, Oxc346ccda
DCD 0xc?8é7_4p9",‘ioxcbecl4fﬂ 0xd06333db, Oxd4f35aac
DCD 0xd09d15¢2, 0xde60f482, 0xe3318973, Oxe8396a50
DCD"oxgdcff_?,orf', 0xf281773¢, 0xf7d0d{73, Oxfd3elc0d




